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Note : This paper has two sections, Section-A and Section-B.

Both the sections are compulsory. Remarks have been

mentioned in the section along with marks.

SECTION - A

1.	 Fill in the blanks. Choose correct answer from the
choices given below :	 15x1=15

(Rubber, Steel, Porcelain, Current, Temperature,
Power factor, Load, Conductor, Winding, Tap,
Breaker, Hot spots, Accuracy, High, Gas.)

Isolators	 cannot be	 operated	 unless
	  is open.

Bus voltage is controlled by changing
transformer 	

	  need to be detected in a
substation during on-line inspection.

Disc insulator is made of 	

(e) One of the factors contributing to high
technical loss in distribution system is low
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The bus bar should be able to carry expected
maximum load current without exceeding
	  limit.

Panther is trade name of 	

In ACSR conductor, central core is of
------- •
Tong tester is used for measuring 	

a)
	

Buchholz relay is 	  operated
relay.

(k)	 	 resistance of transformer is very
low.

(1)	 Isolator should be operated under no
	  condition.

	 gloves can be used while doing
hot line maintenance.

Fault on LT lines is 	 compared
to HT lines.

(o)	 	  class of static meter is 0.2.

2.	 Write True ( 3) or False (x) for the statement given
below :	 10x1=10

Normally cables are supplied in length upto
1 km. on each drum.

13.8 kV is standard primary distribution
voltage.

A MRI is an advanced electronic meter.

For oil fire, foam type extinguishers are used.

The rated voltage of 33 kV arrester is 30 kV.

The minimum BDV of 220 kV transformer
oil is 50 kV.
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Ratio test of transformer can be done in
energised condition.
Expected life span of transformer above 100
kVA is 35 years.
Secondary output current of CT is 0.5 A.
Full form of conductor type AAC is All Alloy
Conductor.

3.	 Match the following given in column 'A' with
column 'B'.	 5x1=5

Column 'A'
	

Column 'B'
Oil
	

(i)	 Breather
Circuit Breaker
	

"(ii)	 Load
Secondary winding
	

(iii)	 BDV
of Transformer
Silica gel
	

(iv)	 Star
(e) Diversity Factor	 (v)	 Fixed contact
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SECTION - B
Answer any eight (8) questions :

Why cable jointing kit is required ?

What are the advantages and disadvantages of
radial feeders ?

8x5=40

What are the factors contributing to high
commercial loss in distribution network ?

What do you mean by trivector meter ?

Differentiate between prevention maintenance
and breakdown maintenance.

Why reactive compensation is provided in
distribution network ?

How to prevent low BDV in transformer oil ?

Describe in brief the principle of Buchholz relay.

Why underground cabling is being opted for
urban areas ? What are its advantages ?

Describe with examples how CT/PT
installations can cause significant loss in terms of
revenue ?

What are the advantages of HVDS ?

What are the typical load categories in a
distribution network ?

What are the factors on which sizing of cables
depend ?

What are the protections of transformers ?

18.	 What are the activities involved in Operation
and Maintenance of Distribution system ?

OEE-002	 4



atft — 002

Titititt%

toad titair

2010

31141.-002 :	 ratuui

Firer : 3 Ei4	 3TATT-dIT 3�W 70

VIT :	 	 	 #4)' 9.777-1 e - 917 r , 3th. 917 Ziff l Tie 2.1777

airT474 t/ 374* . F/721 i� u	 l oll q. 3 3 X7375

""TIT gell t I

15x1=15

1.	 nTt) Teiri iiftv 	 	 TR	 drk 1C-R I

(tilt, 771.F, LI r	 c1144-111, Nff chltch, Cl 8,
c )8cf(, *Ftri,	 t-WT, .k.i. C-1 q 11(1 T (ta 	 Td),

1:ft-WT, 3=1, ATI I)

'W	 	 %Fr	 t .uq. ffw ar7tOzT

r4(11 4119t7i. tlghdi

	( 	 Vr qq(-1,4)

f-iztNa. f-*--zrr	 ki cbC11 t I

	 1 F-1 tel kraT 	 1:11,171 Trq.--T�79' 14.

fkcf wffr tis r t

OEE-002	 5	 P.T.O.



T 	 t71:1T TITITT-4- 	 dizi d chi ct)

ed.	 dlkqiq	 rt--4

0I *i .q-rT 7	 31fir*d4 3-1-4fkrd c	  (1)5

kTI:EdT 	 414-n	 alfqw

14947 	 	 t

7..t.7r.3117 ons ett	 t17F ch	 	

6141 t

T-ii	 it 514)41

'iicn tI

RQ) 	
 
-curoo n(,) ti

	
	

-gratv

	 t I

	 ITFTFT-21t	 .curod

f-*-7T	 	 t I

Tfa (-111 31	 ki.i 	 -T-Trr9)'

	

-51t1T ftzfiT 	 t I

qc1-11
t 1

4i1	 eA	 	 ari 0.2 t

2.	 fq7 TT7	 21.9'i	 Tre	 3#-{

4 1001	 317:1-K (x) ffffti7 :	 10x1=10

	 .511WT:r 41 fw.t. c	 6)(41 t I

13.8 tt 	  37,1t frd7T	 t I

(c)	 71.317.371. Lm 31	 	 	 t

(i)

(1)

(0)

OEE-002	 6



	  4114-1 mcntt	 3#f

 Aid! t I

33 4)	 41 altFErt	 t 311-*7 (rated)	 30 tt

^lcll t1

220 tt 	  31#10'L-9-dg

50 tt

	  31-1E17	 if-k-ftgru•4 tf

kia.mit1

100 *.t.7.	 a-714-- aigrdf

3-rlfq 35	 15f t

	 3TTUEF ct	 0.5 7 ti

co	 cils.K zrtcr 7.7A WV -9T/TaTIR7t4 0/151dk

t

3.	 chT(11-1 	ca01-1 4 7§1' tf firaTF :	 5x1=5

chici g	c hici44 "a'
c1ci1	 (i)	 t217

fr*Z	 (ii)

ilur at-ftr (no	 t.t.t

%Rich, \;)(-1	 (iv)	 kdit

(e)	 medic 	 obit,*	 (v) fc

OEE-002
	

7	 P.T.O.



c4MT - Tff
8x5=4031-1(	 \31	 :

mfr n7115 fcild	 Atc\tc-1 q7EW "Tit t?

7r9.1.a vf9-zritftzTR arc

td-dTuf te-qt d •cci atfu if rn Vra.

chlkoh 4-1

?1C4-47 TrIZT aTrcr Azrr t?

-taker) , tItt.11 01 d ab-slari ttattaia t 41-c4 3-d-T

(1lR I

fdaTtir ta-at ft\TFER.a. vr-a-cf4 q 1 .1 	 t?

t?

,es.1)144k drirr -er

.ftrztvwr Tf4cr a uk tlfA7 I

7F-6ft 4-A'f il41717 \T1	 EfT

dci	 Tirtff "Wr—A7 t Tkif T11-21./
RIT-grErff aTF:frtit urff cbR u i	 Tr-*-R tr
t?

'7'.1*.t:C113 qzffT`IT

facer fa-ta	 i-rETP:ri 411 4 t?

*-4') 	 rcbi WC4 tr{ fq.* Tic

1.1k141	 T-TT drR I

18. fdffTuT 3fuTral- * ,“5,“gia t atrfa.
R:ft Trratft7ff7rftm t?

OEE-002	 8


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

